Q@ x—->x-1



o &> =

E o

N ol

T

-

=,

10, e L <
l

¢

RWES
lo
>

[¢]

X o4 Ao X 9 9919 92 x o ehsto]
#8()FHn e

S LK CEFEEERPSTIE

2ogg o o g ( )ekn @k

g ©

it

n




(1, 2, 3}, Y = {a, b, c}oll Hi5te] X oA ¥ =29 =

71A]

St
=1



:x2_x’g

-1

(x) = 2x+ 1] thote] (fogo f)(1) 2] gk

3 0

@ 1

B 2

O
-

?



5t fog =go f7t

ax + b, g(x) = ax + col o

@ a=1

)
=

@D a=0E=b=c

@ b=c



@ F G4 AFFol ope,

@ {yly

Hlo
wAO
B
TR

R

= f(g)}

f(x)} 2 (ly

f(x)}c bly = g(x)}

@ {ly

® flx)+gx)=0



T4 f(x) = 4x-3, g(x) = 2+ 1 o Fo] hog = f & WEIHE

® h(x)=x+4 @ h(x)=2x-5 ® h(x) =3x+2
@ h(x)=3x+5 ® h(x) =5x+3



A% AA AR A R 2 T4 f(x) =alx—1]+2-a)x+a
7k AR Aol w71 $15 A4 a o gl W9

D a<-1 @ -1<a<l1 ®0<ax<l

@ a<1 ®a<-1,a>1



© fB3) =37(1)

O f2)=1

© f(-1)>f1)

@ © ® 0,0

©a

® A6, 0, ©®

® O, ©






11, 4% 2A0 dgels gole g 7 (2

f(2x+1) & FoFH?

D x-1 @ 2x-2 ® 4x-2
@ 6x-3 ® 8 -3






13.

AT A = (x| 0<x<2)0] tisto]

Oltfﬂ,f(f)wtf? <3)+~~-+f3° (%)ﬂ U2? (B, f2=fof, fP =

D 20 ® 25 3 30 @ 35 B 40



14.

@ f(2) =3, g(2) =4 oIt
© R nol diste] f(n) =n+1 otk
© ZE=n ol Wt g(n) < f(n+1) olth

ONQ) @ © ® 0,0
® @, © ® O, 0,©



Fry = f(x) o] Lefameleh. xofl B A4 f£(f(x+
oF2 A 2e] st 3-8 AR Ao MY (T x <2
o, f(x) <0 °]c}.)

D 2.20 @ 2.22 ® 3.30 @ 4.42 B 4.50



